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QUESTION 14 OF &2 Question # [ Y [ rd [=] A ) X

At time t = 0 year, Donald puts $1,000 into a fund crediting interest at a nominal rate of {
compounded semiannually.

At time ¢ = 2 years, Lewis puts $1,000 into a different fund crediting interest at a force
8, =1/(5+ ¢ forall &

At time t = 16 years, the amounts in each fund will be equal.
Caleulate ©
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Help Me Start N

Equate the expressions for the AVs at ¢ = 16. Then solve for §17:

Equate the expressions for for the AVs at ¢ = 16 and calculate #:

(1+d/22=3
(1 4+ §9/2) = 30-1 03403 BN —
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Common Questions & Errors
Student Question 1: After solving this problem 1 got 068855, Are we expected to round to 077
Angwer; The provided answer choices are all rounded to 1 decimal place. So the answer 6.9855%

should be rounded to 7.0% to be correct to 1 declmal place.

Rate this problem
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